gbooboooobobogon

0000 (00000o0)
00150 10 100 Ver.l

gl doogogbbobbooooooobobboooooobobbbooooooo
goooo

gbooodgbbogbobooobooobboobbooboobboonooboon
0000000000000 0000000ODO (00000000 oOO0)0DooDOoooo
gooogg

Ooooooad
0000000000000 000000DDO00DDOO0DL00dD p,O0000000
Odddddo-r000g0oooooon .
RS

dSO00000dE, 00

1 ocos¢

dE, = dsS 1
drey 12 (1)

OO000ecODODODODODODODOOe0OODODODODO
Dooooooooootd-obobonbg
OO00o0O0obooogd4dsSooooononDon
ooboobooobooboooboboboo
O00000000oooO(Doooooo)o

O00o0oooooooooooooboodgaon
oobooboooooobooogoogds

Oob0ooboobooooboooodson
0dS'00dS =cospdSOO0O0DO00O0OO0O
O0ddSOoonoooooon

1:7r%=dQ: cospdS

gobbobodd

7,2

ds =

cos ¢

goon
ggoboobooood

B - o / cosqbds
0ooo

4d7eq r2
o

= ds)
4meg /DEIEIEI

1

Ooooooooboooooboobooooog ds

dQ (2)



= Zom2=2 (3)

gboboboobbooobbooobbuooobboobobobobbooobbon
OOobooooboooboodQuooobdsoooo20000boooobooon
O0O000000nO0D00O0Orcoseo=r-nO00O0000OO00O0OO

7,3

s =

dQ) (4)

rT-n
gboboboobooboobooboobon
o

E = 2 [asZ

e 73

o r
= — [ d2
47re/ r-n
gododO0dOoOooodr000000000UD UL oo
00000000000 oooooouoooouoooo

002 (0) 00 r00000000000000O0MOOO0OOO0OODOOO0O0)
()OO (<r)D0O0O0O0O0ODOO0OOO0DO0O0O0DOOODODOOOOOOO
(cOD0OO0ODU0O0O0Oe0OOOooonOo?

gbboboooobobooooboboooob

(a)
000D0000000000200000

O0FE(x)000O000D0O0OO0OOOOOOO
r=|z|00000000000O00O0O0O0OO
gbobbdb 00000000000 2
000000000000 Ex)00000
r>r0o0ogdooboggo

4 3
dSn - E(z) = 4/3mr°p
0o €0

gbbObDpdooobbobooogn

0000000004m2?E((2x)) 000000000

3

Blw) = 51 (6)

Ub0b00000000000000

3
E(x) ™p T

- 360.272 m

2



U000z <r0ddgdzs0000000000000000O0DO0O0O0000
0000000000000 0000 0000000 /eeODOOO

4/3ma?
drz’E(z) = 4/3ma’p
€0
xp
E = = 8
(@) = 3 (5)
Oo0ogoogogoogdg =
rp x o
E(x)= """ 9
oogogg E(m)D 00000000040
O00ooOooooo
€ X

(b)
Oo0000dooo0ooooooooooooboooooooooooooooooo
gdooddooooooooouoooooooogooooonoooooooooog
Joododoogooggnoogoogonouogo oot ogd aed
DDDT’DDDDDDDDDDDDDDDDDDD—pDDDDDDDDDE’(m)DD
god

Ex = -L(@-a) (z—al<r) (10)

3¢

p T’3
/
— _gm(w—a) (lx —a|] > ") (11)

(12)

000000000000000000030000 ()D0000@G)oboooooo
O000@Gi)000000000000O0000

Ew(z)=E+E = ?)'Zoa () 000 (13)
p ' g
= 3 (az - m(m - a)) () 000 (14)
p 7,.3 TIS

= — — — ) 0dd 15
360(@‘391: e a)) ) 15)
DDDDDDDDD(ii)D(iii)DDDDDDDDDDDDDDDDDDDDDDDD
DDDDDDDDDDD(DDDDD)DDDDDDDDDDDDDDDDDDDDDD
godoodood



(©)

0000000000000 oobo0ooooooboo0ooooooobooooono
OdoooooogoooooooogogoooooggooooogooDoooDoon
O000000oooooO0o0ooooooobooooooooobooooonoooono
odogooooogoooooooogguooooooooobooggoooooon
Oooooooon (DD)DDDDDDDDDDDDDDDDDDDDDDDDDD
Odooopoopooooooooboooguoooogoggoooooggooon
o000 oo oo b0 oomobooooogoboo
ododoooogooooooooooooooggo oo oogogooooon
ogod

Oopooootmog (b)DDDDDDDDDDDDDDDDDDDDDDDDDD
Odogooooooooooooogooooogooooboooggoobooooo
gdogdopoooooooooooooogoooooogoooooogoooboon
Oo0odooogooogooog

oogoopoooogo (i)DDDDDDDDDDDDDDDDDDDDDDDDDD
OdodoooooobooobooooooogogoooooooboDo oo booono
a://:v—aDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
O0JU0D000000e000000000000000D00DO0O000ODO0D00 a
oo ooooooooogooooogoggooooggooon

gooo
googooouooooboobobbbbn

D00000000000E()DDDOO
0000000000000000000
0oooo

0oo0D0D0ooooO?
000e0O00O0DO0DODODOOOOO
00000000000 Q=*"20000
00000 Q =-"*0e0000000
00D0000000e000000000
0-r00000000QO00000000
00000000000000000000
00000 -Q0000000000nO
00000000000 00000000
0 -Q'000000000000000O
oooooe

\

‘DboooboboboobOobobOooboobon
go




